WALT round any number up to one million.
WILF:

Round to the nearest:
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NUMBERS
I

Rounding helps us to find

estimated amounts, so it's an important skill to have
to be able to check large calculations quickly.

Today we are working on our rounding with numbers
up to one million.

Imagine your humber on a number line - is it closer
to 10 or O? If it's closer to 10, you round up and x :
increase the digi’r on the left by 1. You then turn



https://safeyoutube.net/w/UYr7

If you're rounding down, the number

you're looking at stays the same, then

all numbers to the right turn to O.

For example:

Find 197, 845 rounded to the nearest ten thousand.

1) Find the ten thousand column. Because you are wanting the number to the nearest ten
thousand, it's the number to the right of that you are rounding. So, in this case, the
column on the right is the thousands.

Mill Hundred | Ten
hons |+ ousands | Thousands | Thousands | Hundreds Ones
1 9 7 @ 6 5
Is this number 5 or above? ‘
1 9 7 0 0 0

The ten thousands will then stay the same.



Round Numbers to 100,000.
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What could the original number
be? Give two possibilities for each.

Original Number

Rounded to the
Nearest 100 000

100 000

600 000

500 000
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Round Numbers to One Million

N

Charmaine and Jeremiah are playing a rounding
game. Charmaine says she has a number that, when
rounded to the nearest 10 000 and 100 000, gives
exactly the same answer. Jeremiah does not think

this is possible.

Who do you agree with?
Explain your answer and prove it!
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Round Numbers to One Million

N

Charmaine and Jeremiah are playing a rounding
game. Charmaine says she has a number that, when
rounded to the nearest 10 000 and 100 000, gives
exactly the same answer. Jeremiah does not think
this is possible.

Who do you agree with?

Explain your answer and prove it!

Charmaine is correct. For example,
if you take the number 899 995,
rounded to the nearest 10 000 it is
900 000 and to the nearest 100 000
it is, again, 900 000.
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Round Numbers to One Million

Why is
Frederik

Packs of playing cards are transported around the
country in lorries. Each lorry can carry 100 000 packs

of playing cards. 116 321 packs of playing cards are
ready to be transported.

Frederik rounds the number of packs of playing cards
to the 100 000 and says that 1 lorry will be needed.



Round Numbers to One Million

Why is
Frederik

Because there are then 116 321 packs of playing cards
left over! Frederick has rounded down, instead of up. He
needs 2 lorries.
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Round Numbers to One Million
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Gertrude has some digit cards. Using all of

the digit cards only once, she says that she $§72 23] and 601 786

can make two numbers that, when rounded — both round to 600 000
to the nearest 100 000, are the same number. 706 S12 and 723 186
What could these numbers be? Can you find — both round to 700 000
three different pairs of numbers? 751 260 and 3816 327

— both round to 200 000
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Round Numbers to One Million
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A= §122
B= 7067
C= 633l

Possible answer is

When A and B are rounded to the
nearest 1000, the difference is 2000.

When B and C are rounded to the

nearest 100, the difference is 300.
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Round Numbers to One Million

Now have a go at the work. See how far through the sheets you can get,
but don't worry if they get too hard.

3 Camnersrutake

R | Gt | B s | R a
it | e i | s e 1) Complete
AT s g o 3 i Round to the | Roundtothe | Round tothe | Roundiothe | Round tothe

the table: MNearest 10 Nearest 100 | Nearest 1000 | Nearest 10000 | Nearest 100 000
523 254
412 985
675 348

3 amnens s
b T vowidto the neaest 109, dou nevd { 2y Complete the santances 3) What could the original nunbe- be?
p . Gva two possibHlities for each
B T2 rousd 0 the meurest 100 000, you I ) To raund to the nearest 100, you need e e possbTies for eath
1 o et :.:;;m.m L +n tock nt the digit. Original Number | Rourdded to the Nearest 100 000
9 e sl e [Nt b To raund o the nearest 100 000, gou need 00 o0
0 took ar the digir.
800 000
&) To raund to the nearest
you need to look at the thousands digit. 200 000

Kachael und Betsy ure playing o 1) Rachael and Betsy are playing o rounding garme. Batsy says she has a number that, when
raunaiag game. Betsy says she has ronaded to the nearest 10, 100, 1000, 10 000 and 100 000, gives exactly the sume answer.
a number that, when rounded o Raichael does not think this is passiale.

the nearest 10, 160, 1000, 10 000
and 100 000, gives exactly the sar
Rachael doss net think this is possi

2} Packets of discuits are tansparted

arnund the cauntry i larres 2) Packets of kiscuits are transported arcund the country in lorries.
Each lorry can carry 100000 pach Fach lerry can mrry 100 000 packets of biscuits.

of bisculls, 12 893 puckels of 323 852 packers of biseuirs are weady to be transported Wiho do you agree
biscuits are rendy bo be transporta Sybveiin raunds the number of packels of biscuits Lo Lhe nearest with and why?

200 000 and says that 3 orries will be needed.
Sybvuin rounds Ure number of push Terry says they wrill need 4.
the nearest LOC 000 and says that
needed, Tarry says thay will asmd ¢

Wh e you agree with und why?

1) Gertrude has some digit cards. Using alt of the digic eards only
crice, she says that she can make two numbers that, when

B Gertruds hesome. ——— rouded lo the nearsst 100000, are the same numier. What ’Tmmmmm
<igit cards, LUsing : B could these nurhers be? Can you find fe pairs of numbers?

allof the digit o
canzonly once,
e sys il she con make Lo numbs
thak, when rounded ko bhe rearsst 108
numer, What could these numbers be
<ifferen poirs of numbers? Gartrude makes thres diffeent four-digit numbers using the digit cads above.
Can you wark aut what the numbers are from the cluss?

Wi A and B are rounded to the nearest: 1000, the difference is 2000,
Uhen B und C are rounded to the nearest 100, the difference i 800,

what could the aumbers be?

Hint:
try using the sume
thousnnds digit for
BandcC.

2) Gartruds moises thres ciffsrent four-dD
e i o s b, Gan o wark g
cre from the ces?

“ihen A and B are rourdad o the ean
the cifferance is 2002,

vihat zould thz numbers et

Hime: try using the ssme thousands diy
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